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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more bubbles

will result in zero marks in that question
Dé‘ IK—1-24 1Ay

Waves transfer P | 1
Velocity ("1s (D)  Wave length > £ (€} Frequency u"'-’-:f} (B) Energy /i (A)
The spring constant is e g | 2
_ k=-= (D) k=--§ () W=mg (B) F=ma (A)
Which is an example of longitudinal waves? s Jed Jds J!é:‘) 3
Sound waves Jg k3. (B) Light waves Jgs g (f 1 (A)
Water'waves Jgs J 8& (D) Radio waves Jgs g4/ (C)
One bel is equal to -¢ 4z(bel) J L] -4
10 dB (D) 40dB (C) 30dB (B) 20dB (A)
The index of refraction depends on Te-bayg ur ALK u’{)/ .JT‘ﬁ,}i:l -5
The speed of light ¢ D] (B) The focal length & Fi (a)
The object distance J-b b’()' (D) The image distance 6 ¥ &1 (C)
Types of reflection are -er?ngPg’ s -6
5Dy 4(C) 3(B) 2 (A)
Capacitance is defined as -‘E—G"{ Sepu u!}&fcf”‘u"{ -7
'Z‘ (D) % (© Qv (B) Ve (A)
An electric current in conductors is due to the flow of -6 Jﬂ,g L&/J)gl ut};‘rjf -8
Negative ions 7':7;‘»:‘? (B) Positive ions #7457 (A)
Free electrons 7’:}-?! A7 (D) Positive charges 2. 4}.)4 (€Y

fe Ao b Z it J UL o g A gk | 9

The direction of induced e.m.f in a circuit is in accordance with conservation of
Charge &Jk (D)  Momentum {"‘f » {C) Energyds (B) Mass i (A)
The particles emitted from a hot cathode surface are i u_nb/l;c.tdl 34 rf z%/g &l |10

Negative ions T}:Q (B) Electrons 7‘;}94 (A)
Positive ions 7 17y (D) Protons s (C)
Which of the following is not processing ? 1‘4,-..u.‘f J.rs,gf s | 11
Manipulating t./59 32 (B) Arranging & w27 (A)
Gathering £/ (D) Calculating t./ 0> (C)

ce b BV R BT A Lkl § LI Rd AT | <12

Isotopes of atoms of same element with different

Atomic number #.tt (B) Atomic mass Uit (A)
Number of electrons s 5':;‘91 (D) Number of protons s.s J g (C) j ’
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AQ. No.2 Write Short answers to any five of the following 2x5=10 ..2’-:/,,)’ ..-.L.l:?/:‘?ﬁ 7 ég & JJ( L/:;dlr

Write two characteristics of simple harmonic motion. -.’f!.-,y,ﬁ » u’Jvafr Ly Jpans
b S St 8T 4 S e fp§ 1.6ms™ ¢ aH, TV

A wave moves on slinky with frequency of 4H, and with speed 1.6 ms 1, calculate its wave length.

Define the term of vibration and amplitude. ZE W Sed sl Gl g ol

Define electric field intensity and write its unit. T z{_,_;;‘fuj%m WS
_ 2Lyl L ug S K JJ!{K&-JWILVJCJ;QI

With the help of electroscope how can you identify the conductor and an insulator ? ¥

What do you mean by capacitance of capacitor ? b 4..:1/1)’:_ i (g J}s‘{

How can metal wire conduct electricity ? fe r;f:;f&f.f)gl Y- JJ’-‘-’ e

s buu iz e 30 Me 0P E 60430 20

Three resistance 2., 390 and 61 are connected in parallel. Find their equivalent resistance,

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

Q. No.3 Write Short answers to any five of the following 5x2=10 u’:{/‘/’ :.Ql;?f""&;lm &L’c,.éf 3./:‘.';}!:’

f
i

Define pitch of sound. How does it vary with frequency ? ?;‘;.J,n Jd 4, c_(.{‘.i(fu“uf/ Z 3 LE ST
- 05m ;‘ﬁl’,{uﬁl 340 ms'lJ;‘.;( Ju’l £ :’{r‘)" u"-:g/ Jﬂ;f

| Calculate the frequency of sound wave of speed 340 ms™ and wavelength 0.5 m.

How the depth of sea can be measured by ultrasonic. ¢ 4—-‘7‘? de Lh S ir e B & Eri P
| What is difference between RAM and ROM ? S e O LU ol fs
| Why optical fiber is more useful tool for communication process ? Tq_,é'b};//:’li JBT S L odusisas
| What do you mean by information technology.? . S i e G 2 (e SR

, Nefine nuclear transmutation. sy Ol gpanadl S z?z.’
| ¥t Jiort v UF O A6 H g e Gorr § W EE B

1 How can radioactive radiations be distinguish from their'path in an external magnetic field ?

(i)
(i)

(iii)
(iv)
(v
(vi)
(vii)
(viii)

Q. No.4 Write Short answers to any five of the following 5%x2=10 _2{4}' .-.»I,li./:? Lz ég a&f 4./1;‘)!9’

Which device is used for converting electrical energy into mechanical energy ?
14 Lru-’f P L Uulﬁ’g)‘ﬁ‘J 24 Jm‘d ..'.'J
What do you understand by digital and analogue quantities ?

Name two factors which can enhance thermionic emission.
NAND gate is the reciprocai of AND gate. Discuss. ~2}:.;-..>l.>: g 2 ¥l ke LY

{What is difference between telescope and microscope ? te VU .{,C,,f’ bl .;ac N4
What do you know about accommaodation ? twEb VTRt O ‘ﬁTf (i)
Define reflection of light and draw its diagram. - &k (l/y} Sur 2:”..9:/"' JUMJ & (iil)
What is difference between step up and step down transformer ? Yo J/j L mis g sl b | (iV)

S b La B GH SRS B K2z btk BV (v)

(vi)

e ol S P s R LSt {vii)

(viii)

Part—Il fn.#
Note: Attempt any two questions from this part 9 x2=18 _g.(f .:;U.?.L Uiy 2 c.éfc..uﬁ ~J

O

| Explain the reflection and refraction of water wave with the help of ripple tank.

4 _2E ol Sk SN, Gogs § & <4 § 2 s (A) 5_AJiy

5 P L2t S NI nt g 15A o o fH Al o 10V Ui Sy ok LY (B)
?Jn(}’b&/’!

By applying a potential difference of 10V across a conductor , a current of 1.5 A passes through it.
How much energy would be obtained from the current in 2 minutes ?

How radio isotopes are used as a tracer and carbon dating ?

4 ? < ﬁ[ok(dl."‘"l &ﬁ:’,ﬁ 71 JJ'/'.} ] Z;);j’)(z;rff.iij (A) G-ﬁ}d”’

5 ¢ o 1 i) (5L 17 1 80dB Jod (ki § 251 L2 Ca sy d 1 /1 |(B)
If at Anarkali Bazar (Lahore) intensity level of sound is 80 dB. What will be the intensity of sound ?

What is solenoid ? With the help of diagram explain the magnetic field produced by a solenoid.

1+1+2 -’Z;L:uwu:(;ﬂ;‘-..@_‘.al.l;&_a_ffﬂér‘:_u JJ’ 94.&0'0.’,' (A) 7-/&)"’

5 & {#yv. A g Brg 14 L8LF 20 &g 15em HSid J?}J;ﬁ’qf.m em g1 Ju2? 4 ((B)
An object 10 cm high is placed at a distance of 20 cm from a concave lens of focal length 15 cm.
| Calculate the position and size of the image ?
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DGEL—2 24 1-AJir

An electric current in a conductor is due to the flow of ) Jﬂ,z LS S ut}(i:( -1
Negative ion JT};? (B) Positive ion ¢f7 23 (A)
Free electrons ;’;}-gl T (D) Positive charge Zul %3, (C)
. . . . . . &0
Sl unit of electric potential is volt, which is equal to SPAVVRE PRI LG L)

. ‘e (o) ict(c) sct(e) i (A)

U s L./J’4/’b ?ngklp?.:rﬂﬁ’ J&f!..hé{.c.u: Sl J,m,(x I;K‘;i‘.i..@?.g 3

If the current in a wire which is placed perpendicular to a magnetic field increases, the force on
the wire

Will be zero Jnj‘ (D) Remainthe same unﬁ’;{i (C) Decreases fo’(B) Increases Jz.z (A)

et D e L3 230 LS | a4

Electron gun has an electrode which controlled the fiow of electrons

Screen (/.5 (D) Grid $/77(C) " Deflecting plate = 2% (B)  Anod izl (A)

Which of the following is not processing ? ‘.'q.u..“’ &:4‘}’ byl | 5
Manipulating t./7:2(B) Arranging ks .27 (A)
Gathering £/ (D) Calculating £t/ 0L~ (C)

~e b e LA L dn g LS LG 24| 6
The charge on alpha particle emitted during phenomenon of radioactivity

+3e (D) +2e (C) +e (B) -e (A)

Which one of the waves cannot pass through Vacuum ? S'u,t(jczf uﬂ’ c_.utp&u:u‘ of| 7
Television waves Jgs % ‘f (B) Radio waves Jg g4, (A)
Sound waves Jys ST (D) Light waves Jgs g u’ 1 (C)

Yo Orud &85, 0y LA LUl ofropmd i S| 8
In the vibratory motion of simple pendulum the net force along the string is

mg cos 6 (D) mgsin@ (C) mg (B) Zero (A)
i e & ﬁ bR Lp ST | 9

In sound waves the distance between two consecutive compression or rarefaction is

240) ; © (B A

b S T S 3 & 30° 45§ T S S, Wbl f G| -10

During regular reflection of light the angle of incidence is 30° , its corresponding angle of

reflection is
60° (D) 45° (C) 30°(B) 15° (A)
¢ The index of refraction depends upon \‘q../'ufMl G’cf‘gﬂ'; STU% | 11
Speed of light Ly v (B) Focal length #4U5 (a)
Object distance J-'lib’(" (D) Image distance J6¥&! (C)

i Bl g1 bl FAMSH Y L 12V S 2 L SF fia| 12

The charge store on a 5F capacitor , when it charges to a potential difference of 12 V is

; W 17C(D)  60C (C) 0.42 C (B) 24C (A)
LT LT :
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Q. No.2 Write Short answers to aﬁy five of the following  5x2=10 ..2.£ /,f T 4 /ﬁ' Lz é&éd[ Z./JJLV
g=10ms? .ﬁgr)’":«,& r"? (Hﬁ’;ubﬁé?}fug (ii) ?J"Ju‘l":u:)(f’{%'gj.£¢!¢IJ‘fu}’J{;Lﬁiu'uf (i) A

el St g L) EEAVBI e Lty iy (v) i S S Fr Erh S i)
e Lo E S0 L (vill) 1kWh=3.6MI -z (i) - 2 i A¥uds L S (vi)
(i) What type of waves do not require any material medium for their propagation ?
(ii) Find the time period of a simple pendulum 1.0 m long at a location where g=10ms?
(iii) Define simple Harmonic motion. (iv) Draw electric field lines for two negative point charges.
{v) Enlist four uses of capacitors. {vi) Write down the formula of coulomb’s law.
{vii) Prove that 1 kWh = 3.6 MJ (viii) Define Resistance and also write the name of its unit.

Q. No.3 Write Short answers to any five of the following 5x2=10 ..2;‘: /J’ el /‘9 Lz &L' c,éf 3./:2dlr‘
S b Ui &S S :,fh{_ L LOCKUIs U ik (1) S bl (US00S9 L 72 L8 1 (i)
& et in Ledpr (V) S G L A s (V) T &SI e S gaf sl b m iy ik L (iii)
S PRy F 2 2i el (i) @ enledzd Lo dteh (vil) St 2l Utk £ Al T (i)
(i) What affect has the amplitude/of a vibrating body upon loudness ?
(ii) How ultrasonics is used to locate cracks in heavy machines ?
{iii) How can a bat locate tiny flying insects in a dark room? (iv) What is difference between bit and byte ?

{v) Write two uses of internet. (vi) What do you know about super computer ?
(vii) Write general equation of Alpha {(« ) decay. (viii) What is difference between stable and unstable nuclei ?

Q. No.4 write Short answers to any five of the following  5x2=10 -é L7 =Wz ALz 5!;:_(;:( 4../.'7dlr
e S oas s, F o S i) - @ wy S KT E/E0A ) -EudF LS8 )
Vo (0SS 00 () S L BE LN Sty P Sl 1) (iv)
Se 0 VUM S S S (i) IV S el ek i)
-é(b[. ur”? £.=.;¢:.‘r,l Y4 (viii)
(i) State the laws of refraction of light. (i) Define power of lens and write its S.I unit.
(iii} Write the conditions for total internal reflection. (iv) Define electromagnet. How many poles it has ?
{v) Can a transformer operate on direct current ? {(vi) Define NOT gate and write its symboi.

(vii) What is difference between analogue electronics and digital electronics?
{viii) Write the name of parts of cathode - ray oscilloscope

Part~1l fo»
Note: Attempt any two questions from this part 9 x 2=18 .é.{f :.gu_ez:.»mr» :_Gf:— P29 (Y
4 ~Zasie (SHM) Erag S~ oFrd Uy on gy L URL (A) 5-AUlr

Discuss the motion of a ball placed in a bowi is an example of SHM.
5 42U e Lo ) Sl L1 £ 100 pe S1 - 10° Ve S Uy L 081y L e o0 S 16 51 |(B)

e ytS S It
The electric potential at a point in an electric field is 10° V. If a charge of 100uc is brought from
infinity to this point. What would be the amount of work done on it

4 -Zesbie LT PBZL S T L LTI (A) 6-AUir

What do you understand by the half-life of a radioactive element ? Explain with one example.
5 T Mo B ELSE b € 1.5km Wt 35cm sl 2 kHz .,é'}‘&ié‘j; 2 u"-’ug/’ Jg,kfv...{! {

A sound wave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel 1.5 km

B)

4 -é:)lﬁ: il JJIJ}JM ri/}_l! Suit &y Ve " (A) 7-/‘}J"’
What is meant by Nor gate ? Explain it with diagram and truth table.
5 SV S e S S B E S e # 5D # U |(B)

The power of a convex lens is 5D. At what distance the cbject should be placed from the lens so
that real and 2 times larger image is formed .
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